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find thc value of “m” and “n”.
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Answer briefly any Six parts from the followings. ~ 6x2=12 /¢ f bz F Linige . .~_U:J;z,ﬂ 24Ul
5 3 1 0 ' - ;
If A= and B = then find A - B. “ZE I A-BInB= PO 3
4 2 0 1] - = . 0 1 4 2
Evaluate % / g -Z:(‘:L”.:j G
)
(8 7%
Simplify | — _i (i)
P (125 J (125 j ~ _
Find the value of x. logg, 8 = % log, 8 zg -gﬂl”‘o{:’.ur x o G
Calculate. log, 3 x log, 8 log, 3xlog, 8 ﬁz,:r,b".:,,{" )
Simplify [JE + —j [ J [\/5 - _1_) (ﬁ _ L) s D)
| A
Rationalize the denominator 4 # Z_‘-L«J"L}/Lf (vii)
NN NN
Factorize 8x° —125 8x —125 24 (viii)
Factorize 3x° —75y? 3Ix2 -5 &84 (i)
Answer briefly any Six parts from the followings. 6%2=12 -Q/ 4 /’ aLlﬁ/"? L!ZI:;:_J_{ Luf‘,tjbu -3 /j dlr
Find the H.C.F by factorization X' +5x+6 , x’-4x=12 P56, Xdx-12 g Spe i @
- -3 -3 &= o
. Solve the given equation i . 3 =gl xT - —7% =—1 g/ fen 6 Gi)
Define Absolute value? (S S d P G
Find the value of “m” and “¢” by expressing them in P LS e Sry=mx+e /(:1”' =S s m” Gv)
the form of y=mx+c 3x+7y=~4 ‘ 3x+7y=-4
Draw the graph of X = -3 . S SEx=3 @)
Find the mid point between two points A(7,-2) B(~3 , 5) A(7,-2)B(=3,5) . 550l 636 (vi)
Define Isosceles triangle? ?q/_@f&»dumu (vii)
State S.A.S postulate? S S s SFoif  (iid
| P & N
IFLMNP is parallelogram &5 L LIMNP S G0
&« 3 % 4” + ” ‘
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Answer briefly any Six parts from the followings.

Define Right bisector of a Line Segment.

Verify that 10cm , 6cm and 8cm are the sides of Triangle.

LI

~(2)-=
ox2=12 g Sufeba B Limgedlevtidivs 44y
NS NSl

[

-wungCMfLWScmmécm ,10cm f‘/‘./..:,;t‘- Gi)

In Isosceles Triangle APORFind X and y 1oc™, w -q/ph’uf‘zafymx J~PQR éy@"u—‘:"ui&u Gid)
i @ ébem Y R
. %t 4
Find the value of X. % Hem by Com -d”/’,(:b’;»f Jx Gv)
3Cm 3cm

Verify sides are right angled Triangle AU S Sosdie a1 1 256 S PV )

a=lcm b=lcm c=\/§cm a=lcm b=lcm c=«/§cm

Find the area of square whose side is 10 cm. - gcm -&-10cm équ"L{r Z_Ji,?g/_f(}";}'/{d/ (vi)
Find the area of a Parallelogram. Hem ~u:/|’}h",.?J(cLU‘U'dJ‘lP (vid)

Define Incentre.
Define Circumcentre of Triangle.
, Part I
_ Note: Attempt any Three Questions.Q.Q is compulsory

5.a. Solve the linear equations by Cramer’s Rule.

2oV (o g+r .
b.  Simplify (T] - [——;} +5(a”-a")" Ja#0
a a

6.a. Uselog table to find the value of

b. If(Sx + i) = 6, then find the value of [125x3 + !
5x | 125

7.a. For what value of m is the Polynomial

" op(x)= 4x> —7x* + 6x—3m exactly divisibleby x +27?

b.  Find the value of £and m for which the following expression

will become Perfect Square. x* +4x> +16x° +Ix+m

8.a. Solveforx |x+2|-3=5-|x+2]|

b. Construct triangle ABC and draw altitude of its sides

(438)°/0.056

(388)* .
455 “ 3 3 1
J Eepredd (125): b

x3

\ 5.9 Y §s /g}u}l (viii)
GIaSE @
g} ) v g

(83=20). | b9 Aray /s f ez lcird e §fied

3x -5y =-2 -L[/J’:_.:g)éﬁffuii:uﬂ @5
5x+3y=5
aP ptg aq q+r .
(—q} . [—’J +5(a?-a" )" ,a#0 S ®)
a a

Epeies S /?/6’)’ (a)6
);n[5x+gl—x—]:6ﬁ ®)
g?;ix+24.£:¢ggfd/m2;(}’ ()7

: -(c/(:j‘l/gijgfp(x) =4x> =7x* +6x—3m
Lt p I dads st edfussmat ®)

X+ 4x +16x° +lx+m .
|x+2]-3=5-x+2|-ZS L Lx @8

mAB =4.6¢cm | mBC =5cm , mCA =5.1cm

9. Prove that any point inside an angle, equidistant from its

arms, is on the bisector of it. OR.soe

Prove that triangles on the same base and of same (i.e.equal)

altitude are equal in area.
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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

front of that question number. Use
question.Write PAPER CODE, wh

ich is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
x>10 x<10 x<10 x>8 IfxisnolongerthanlO,then_?n;d‘/,c_l()c&f’TJxﬁ 1
_, ‘i 3 = [ Sl .
0y | e» | ev | a2 O/ Ly =2 nldivof | 2
Which order pair satisfies the equation y = 2x
oo | LWl | A8 ety | FUIGLS _:‘,JM,Fun.ﬁ:“ U Sun i L2 el L |3
Scalene Equilateral | Noneofthese Isosceles | A triangle having all sides different is called
Ko | ekl | B | e Unlisbn i b biplbest | 4
onco Intersect iterent Same line | Three points are collinear , if they lie.on
these each other lines
Sl J’U“ ngr’: U..’Z—/d;; J,Y?_M{-U:/,Lw .5
Parallel Congruent | Concurrent Intersect | Medians of atriangle are
‘L‘ﬂ;d{ ds i S e AL st LUl Lebys | 6
None ofthese | Concurrent | Congruent Parallel The bisectors of the angles of a triangle are
_%Cﬂwgf»z,u:w 7
2 4 3 1 i
One and only one line can be drawn through __ points
e | S St e ULl s e L |8
None of ' o
these Congruent Parallel Concurrent | Ina parallelogram opposite sides are
) ék uf J'g ~Q.7L?CU(3VU56’JW¢—Z_1L)@@J/5£CWILoﬂ".{' 9
. Congruent triangles can be made by joining the mid
T Five Three Four points of the sides of a triangle
, ; Loy : A1 010
Singular st | Scalar K0 Zero 7 | Unit Jlws 01 is called a matrix -‘ct"elﬁ-_)b 01
—-9-3i —94+13 9_3; 9+3i The conjugate of 9 +3i 1s -c‘;.b‘«.fi;( §9+3i | .11
mlog3 log(3m) 3logm (logm)® logm® can b written as -‘cr@Wf]ogm} 12
2.2 2_ .2
xXT=y° x -)y 13
2 2 .
+ - X+ = is equal to P-2,V4
xty | oxmy | Gt | Geyf | e i
(x—-3y), | @x+3y), | @x-3¥) (2x+3y), ’ -u}d/Ll]ld: 8x> +27y° | .14
LS B 2 i G 2 2 _gy? 2 2 :
UG | o <SE) (4x? — 9y°) (4x°+9¥°) | Factors of 8x3+27y3 -
_ (5 1 3boh3K 2 ~b sl +h>
a-b g 2-p a? + b ., \ 44‘:.4)’ Seolail a b sla +b” | 15
L.C.Mofa +tb"anda-b is

=S 923 _o924-57000 ( 4 )

6

ey . Shan S I R S A O O T e SOy ._’

L




e 4

W T e ——

_SGiD—» —y
G ke £ Ao e 1B

2020220 2023-250% I LASE (f =siz) 0924

6048 & 2:10:25, ’/»,'A/r

Part I

Answer briefly any Six parts from the followings.

1 -
If C=[3 -3 6] then find EC?'

Simplify it /144 p?07g30m

i

Si h% it : )3
m 1 e
PV 125

. Express it as a Single logarithm
logx —2logx +3log(x + ) - log(x? 1)
Find the value of x -logx = 0.0044

Factorizeit 8x° — 2—717 67 (i)
y .

State Remainder Theorem. _uiJ - /7 L/( éLJﬁf Gix)

Answer briefly any Six parts from the followings.
Find the H.C.F by factorization x” +5x+6 , x* <4x—~12

Solve forx [2x+ 5| =11

Solve the equation. Bx+d=2

What is meant by ordered pair. Give an example.

Plot on the graph paper P(-3 , 2).

Find the distance between the pair of points A(9,2) , B(7,2)
Find the mid point between pair of points. (5, ~12) , (-6, 8)

Describe S:S.S postulate.

6x2=12

6%2=12

&) S
U -
LIl Lizge e Llitn 2401y
T ()vé Cinc=3-36)/i @

Vidap®rgom 05 G

(_’L)%a G GiD

125

-u:”guthf’?/b’)m; (iv)

logx —2logx +3log(x+1)— log(x® — 1)
logx=0.0044 .y Sps =Bl x (v

Z R
Simplify it T ' 24 i U )
2x" -8
Factorizeit ~ 4x* —(2)? ~z%)? J6E (i)

L f ez Limge $e bdion 340
X 5546, 27 —4x =12 ZpruF i G

12x+5|=11.ZSLL x G
V3x+4=22Flen- (i)

St e in )

.-af.: A3, mS (W)

AO9,2) , B(7,2) & po ol s L stz £06 (D)
(5,-12), (-6,8) - Silps¥urn 46 (vid)
F e P PP Giid)

2L

‘Y”o

Find the unknown n°, m° in the given figure.
o
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o \Aé;wer briefly any Six parts from the followings. 6Xi2-=ﬁ e -;[/.(,iﬁawi/‘?élzlic_éfcufgfj@» .4/Jlr
" z
If ALMO and A LNO are congruent triangles UMu:w‘ J:’U'“‘ ALNOSALMOSi @
then find value of x and m -ér;l"‘bff Jm »lxd
M N .
L m ; . 3 .
12cm, 13¢m and 5¢m are length of sides a triangle o 12 AL el Lisem »i13cm , 12em G
verify and give reason. -é.l;,,.yuﬂé i
Define proportion. S St Gid
State the converse of Pythagoras theorm. - , S PlusLefl Gy
Verify these are length of sides  aright angled triangle. -u}ugHJCMIL:«JIﬂ’;f’G',é:J.L" )
6cm, 8cm, 10cm ' . 6cm, 8cm, 10cm
Define altitude of a parallelogram. 1o0CM lo C-»?é'-ﬁ’/ J»i Loz (vi)
Find the area of figure.g75y, gem L r)’“‘ SKF G
' [ 1 [ ] .
Define centroid of a triangle. _"ij...e/’ SusS p Lz (viii)
Constructa triangle ABC if mAB =5cm , mBC =4cm and mCA = 6cm N &b ABCeL  (ix)
Part I I e

Note: Attempt any Three Questions.Q.9 is compulsory ~ (8x3=24) &« (§U9 Ay g F ezl etirf edfied

Solve the system of equations by using Crammer’s Rule.

' . alf a2m a2n
Sxmphfy aé+m am+n an+€

Use log table to find the value of ¥2.709 x ¥1.239

If x+y=6 and xy =9, then find the value of x +y3

Factorize 1+ 2ab—a® -b*

€ 9

Find the value of “ £ ” and “m” for which the following

expression will become aperfect square.

44 162 +4x+m

Solve the equation x + % = Z(x - %) —6x

Construct the A ABC. draw the bisectors of angles

Prove that any point on the bisector of an angle is equidistant

from its arms. OR

Prove that Triangles on the same base and of the same

4x+2y=8
3Xfy=~1

LES e L AT

2 2m 2
a a a .
ey
. (ah-m](amhv)(anﬂfJ v
2.709x 1239 gt edcsaldrn 49
_g{()’”uztfx:’ +Y Inxy=9mx+y=6/1

1+2ab-a* —b* y/S67
J’.Jiezﬂc‘-dﬂ{/ﬂ”a&fw/lﬁ“m” e
X4 1163 +ixem. bl S

** % ) 2(" ) %j ~6x s S r S

UE it & U &l S ABC &

and verify their concurrency. mAB=4.5cm mBC =3.lcm mCA="52cm -q’/&'nﬂgfé_n,b’ﬁ(féum!
e UL 1B M.ﬂté,,mf’ Sy

..... L S -5 by Sl (S5l
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(e, equal) altitudes are equal in area.
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